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We call the question type Blackwater
(after a river in Essex)




A fragment of your lecture

Ve AN :Vn > N |a, —a| < ¢



A possible distractor

Ve AN :Vn > N |a, —a| < ¢

!

de VN :dn > N |a, —a|l < ¢



Another possible distractor

Ve AN :Vn > N |a, —a| <e¢

!

Ve AN :Vn < N |a, —a| > ¢



A multiple-choice question prepared by hand

1. Ve AN : Vn > N |a,, —a| < ¢
2. e VN : dn > N |a,, —a| < ¢

3. Ve AN :Vn < N |a,, —a| > ¢

4. 4e VN : dn < N |a,, — a| > ¢



When we choose meaningful distractors, changes we make are
* small, and
* concentrate in some carefully chosen parts of the text



Change of type 1

Ve AN :Vn > N |a, —a| < ¢

!
@e@N:@n>N|an—a|<s



Change of type 2

Ve AN :Vn > N |a, —a| <e¢

!

Ve AN :Vn K)N |a, —al(> ¢



Creating an MCQ using Blackwater

Ve AN :Vn > N |a, —a| <e¢

!

Je(VIN {3dn > N |a, —a|l <e¢
and/or

Ve AN :Vn K)N |a, —al(> ¢



Example 1
S2+2=4S

Or perhaps 2+2 is a different number?



Answer text 0 62 + 2 = 4%



O Answer text
$2+2:.ff11ff2ff3ff4ff5ff'$



Which one is correct?

Select one:

O1.24+2=4
(2.24+2=2
@ i

(4.2 +2 =3



S(X - y)A2 = x"2 + yA2 - 2 xyS

* Change of type 1: vary where 2s are in the answer
* That is, either in front of x2,y2 or in front of xy

* Changge of type 2: vary where the minuses are in the answer
* That is, either in front of y* or in front of xy



;;1 2 2 2 x"2 ))2 NNTITT //1 iy 2 ’° VAZ ,,2 “nt . ;;1 2 10 100 XY

e Change of type 1 (in front of x? and y?)
* Correct option: empty
* Incorrect option: coefficient 2

* Change of type 1 (in front of xy)
* Correct option: coefficient 2
* Incorrect option: empty



Ill 7’ 2 ’7° XA2 112 + ¥4 - ’7° 111 ’) 2 ’7° yAz 112 - 4 + ’7° Ill 2 27 71)° Xy
e Change of type 2 (in front of y?)

* Correct option: +
* Incorrect option: -

* Change of type 2 (in front of xy)
* Correct option: -
* Incorrect option: +



Answer text

$(X - Y)h2 — ”'1 r 2 e Xﬁz H'2 + I B rr* IF1 rr 2 rre yhz IF2 - I + e H'1 2 rr rre z(‘z$



Which one is correct?

Select one:

1. (z —y)? = 2® —y? + 2xy
(2, (x— y)P =22 +y* — 2ay
Q3. (z — y)? = 222 + 2% — 2y
Q4. (z—y)? = 22% — 2y + zy



